sinx=V2/2
x=P/4+2Pk, ka3 Z
x=3P/4+2Pk, ka3 Z

Cosx=1
x=0+2Pk, ko Z

Cosx=0
x=P/2+2Pk, ka3 Z
x=3P/2+2Pk, ko Z
x=P/2+Pk, k3 Z

sinx=0
x=P+Pk || Pk

sinx=-%

x=arcsin(-3/5)+2Pk, k 2 Z

cosSX=%a
x=arccos(3/4)+2Pk, k3 Z
x=-arccos(3/4)+2Pk, k3 Z

sinx=--
x=7P/6+2Pk, k3 Z
x=11P/6+2Pk, k 2 Z

sinx=-1
x=3P/2+2Pk,k 3 Z

cosx=-1
x=P+2Pk,k 3 Z

Cosx=-,
x=2P/3+2Pk,k 3 Z
x=4P/3+2Pk,k 3 Z

x=P-arcsin(-3/5)+2Pk, k 9 Z=P + arcsin(%) + 2Pk, kaZ

arcsin(-a)=-arcsin(a)

sinx=3/7
x=arcsin(3/7)+2Pk,k o Z
x=P-arcsin(3/7)+2Pk,k 3 Z

sinx=-3/7
sinx=-3/7

x=-arcsin(3/7)+2Pk,k 3 Z
x=P+arcsin(3/7)+2Pk,k 3 Z

s

arcsin(x)

arssin(3/7)

~arcsin(3/7)

)\ P+arcsin(3/7) -arcsin(3/7)

-arccos(3/4)




